Probability 3 Continuous Numerical Outcomes

1. What does the abbreviation pdf stand for in relation to a continuous random variable?
a) Probability density function		
b) Probability dependent function 
c) Partially described formula
d) Population distribution function

2. How is a pdf usually presented?
a) an equation 
b) a table of probabilities	
c) a histogram
d) a line graph 		

3. How do you find the probability from a pdf?
a) the value in a table
b) the height of the line
c) the gradient of the line
d) the area under the line		

4. A pdf is essentially a histogram with a large number of observations. Is this:
a) true		
b) sometimes true
c) false
d)  neither true nor false

5. A continuous variable is equally likely to take any value between 0 and 1000.  What does the pdf look like?
a) a straight line parallel to the x axis at a level 1/1000		
b) a straight line that rises from the origin to the point (1000, 1)
c) a straight line that rises from the origin to the point (1, 1)
d) a bell-shaped curve




6. In a pdf for a uniform distribution between the points a and b, how high is the line above the x axis?
a) a
b) b
c) b-a
d) 1/(b-a)		

7. A random variable, X, can take values between 0 and 1 and has the pdf f(x) = 2x. What is the probability that X is smaller than 0.5? 
a) 0.1 
b) 0.25		
c) 0.5
d) 0.75

8. What are the mean and variance of a standard Normal distribution?
a) 0 and 0
b) 0 and 1		
c) 1 and 0
d) 1 and 1

9. What is the least likely way of finding probabilities for a Normal distribution?
a) by using the equation of the pdf to calculate probabilities		
b) using standard tables
c) using standard functions in a spreadsheet
d) using specialised statistical software

10. With a Normal distribution, what is the usual meaning of ‘Z’?
a) the mean
b) the standard deviation
c) the number of standard deviations from the mean		
d) the probability

11. About which point is a Normal distribution always symmetrical?
a) the origin
b) the mean		
c) the standard deviation
d) it is not always symmetrical 
12. With a standard Normal distribution, what is the probability that a value is less than 2?
a) 0.5
b) 0.5398
c) 0.8413
d) 0.9772		

13. If X has a standard normal distribution, what is P(X < 1)? 
a) 0.5		
b) 0.5398
c) 0.8413
d) 0.9772

14. The amount a customer spends at a single visit to PCExtra is normally distributed with a mean of £150 and a variance of £625. It wishes to offer a reward to the 10% of customers who spend the most. How much must customers spend to be eligible for the reward?
a) £182		
b) £175 
c) £190
d) £192

15. If X is normally distributed with standard deviation 1 and P(X < 5) = 0.0228, what is the mean of X? 
a) 10
b) 7	
c) 12
d) 8

16. If a value is Normally distributed with a mean of 10 and a standard deviation of 2, what is the probability of a value below 8?
a) 0.0228
b) 0.1587		
c) 0.3087
d) 0.8413



17. If a value is Normally distributed with a mean of 10 and a standard deviation of 2, what is the probability a value is between 8 and 12?
a) 0.0.0794
b) 0.1587
c) 0.3174
d) [bookmark: _GoBack]0.6826		
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